M= AEDER A EATAT
3 CAIMY 2 ADEAE 243t
B2l SAIHAEAIY =& EEREED
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
S AITH-&8 3t 49,622,187 63,570,127 13,947,940
= 6,000,000
[ 39,064,000
= 4,568,187
SAITHY & AOEAIEl 45t 49,597,200 63,545,140 13,947,940
= 6,000,000
s 39,004,000
= 4,543,200
SAITHEAIS =& 43,584,200 58,526,740 14,942,540
= 39,054,000
= 4,530,200
SATHMEAIG (B2l E) (=1) 22,947,100 16,623,000 7,324,100
[ 20,861,000
= 2,086,100
403 AXIEHMSA=01A 22,947,100 16,623,000 7,324,100
= 20,861,000
[ 2,086,100
01 AXIEHHA= 2L 22,947,100 15,623,000 7,324,100
OTAITHEAIS (B2 ) 22,947,100
[ 20,861,000
= 2,086,100
SATHEAIS (SHADIXE) (2 D) 11,060,500 22,341,000 11,280,500
= 10,055,000
= 1,005,500
403 X EMSXH=0lH 11,060,500 22,341,000 A11,280,500
= 10,085,000
= 1,005,500
01 XM= 2L 11,060,500 22,341,000 211,280,500
OZAITHAAIS (SAAIDIXE) 11,060,500
= 10,085,000
& 1,005,500
CAITHAAIS (BROIEH) (22) 550,000 4,716,000 4,166,000
s 500,000
= 50,000
403 AXIEHHSAH=201H 550,000 4,716,000 4,166,000
= 500,000
T 50,000
01 AXISHA=2EE 550,000 4,716,000 24,166,000
OZAITHMAIS (B HDIBH) 550,000
= 500,000
= 50,000
SATHMAL (F=AXXIRE)(=2) 1,980,000 12,573,000 10,593,000
= 1,800,000
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A2 AMDER SA ZATAD
3 CAIMY 2 ADEAE 243t
B2l SAITHMAIY F=Z (S M)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
= 180,000
403 AXIEHMSA=01H 1,980,000 12,573,000 10,593,000
= 1,800,000
[ 180,000
01 AXIEHHA= 22X 1,980,000 12,573,000 10,593,000
O AITHEAIS (FHRIXZE) 1,980,000
[ 1,800,000
= 180,000
SATHHEAIG (R2ISHIARIDIE) (=1) 2,901,800 1,656,000 1,245,800
[ 2,638,000
S 263,800
403 AXIEHMSA=01A 2,901,800 1,656,000 1,245,800
= 2,638,000
= 263,800
01 A= 2L 2,901,800 1,656,000 1,245,800
O AHEAI (ReISUIARIDIE) 2,901,800
[ 2,638,000
[ 263,800
CAITHAAIS (A F AN ) (R 12) 3,520,000 990,000 2,530,000
[ 3,200,000
= 320,000
403 XIS AH=201H 3,520,000 990,000 2,530,000
= 3,200,000
S 320,000
01 XM= EXE 3,520,000 990,000 2,530,000
OZ AITHAS AL (I EALRY) 3,520,000
= 3,200,000
& 320,000
CANY 98 & 28 S 22 K= 5,000 5,000 0
201 egr=2E | 5,000 5,000
01 AtR2teldl 5,000 5,000
OFAMNY #3& &+ 28 S 22 JHAl 5,000
CANY S2ME FA 33,800 36,740 A2,940
201 get2a| 16,800 19,740 A2,940
01 AtR2tcIH] 16,800 19,740 N2,940
OZAMNERARZ & EIt - dF9 23 =29 16,800
202 O 17,000 17,000
01 =LHAbI 17,000 17,000
OSYRXN EFE82 & S2ZAMY 84 17,000
22T TAIMEX2HEH A 29 586,000 586,000 0
308 NHRIEMISOIE 586,000 586,000
11 S 2SHUEHE & EASAISH 586,000 586,000
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a3 AEDER SN EAHAD
M CATA 9 ADIEAIE 243t
B2l SAITHMAIY F=Z (S M)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
| 08E SAWMTAHE figt 2 586,000
TS ANEAE =4 6,013,000 5,018,400 994,600
= 6,000,000
=S 13,000
ZECE ANEAE HHFX 13,000 18,400 25,400
201 2eH2 3| 10,000 15,000 25,000
01 Al22telbl 10,000 15,000 5,000
OADIEAEI HEIHED 2 10,000
202 0d 3,000 3,400 A400
01 2LHO4HI 3,000 3,400 2400
OFYSH PPHol Y HAFY, WY 3,000
ADEAIEN ZelX(=12) 6,000,000 5,000,000 1,000,000
= 6,000,000
403 RIS AHE01H 6,000,000 5,000,000 1,000,000
= 6,000,000
01 MXIHHA=E X 6,000,000 5,000,000 1,000,000
OADIEAIEl #EIX(EH) 3,000,000
= 3,000,000
OXIANE ADIEAEl =& (24) 3,000,000
= 3,000,000
HY2IZHI(ZAITHAEDL) 24,987 24,987 0
Jlzdsl 24,987 24,987 0
BT 24,967 24,987 0
201 LeH2 3| 17,541 17,541 0
01 Al2telbl 17,541 17,541 0
SHEY AR BRI 17,541
202 0t 4,446 4,446 0
01 =LH04H 4,446 4,446 0
oA 2ol 4,446
203 R =ZIH| 3,000 3,000
I EEEEEST 3,000 3,000
©15¢1 Olst 250,000 * 12 3,000
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